Below is a Sudoku explanation followed by some Sudokus for you to try!

Each row, column and square (4 spaces each) needs to be filled out with the numbers 1-4, without
repeating any numbers within the row, column or square.

Example : Range 1-4
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As an example, in the grid above we can see that the two right hand squares both already have
the number 2. We know that the two squares on the left hand side must also each have the
number '2'.Since, there are already 2s in the top row and bottom row, the 2s must be in the
second and third row. Therefore, as there are already 2s in the right most squares, we can
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Now we have competed the 2s, we can move onto the 3s. The top square already has a three in it
and from this we know that cannot be a 3 in the second row or second column. Then using this
information we can fill this in which leaves only with one space for the last 3 since it cannot be in
the third column because of the three already in the third column.
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Now using the same technique we do the 4s to get the following:

3

2

4

And now the 1s:
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